CHNT

Mounting Instructions
Paigaldusjuhised
VIHCTpyKLMM 38 MOHTaxX
Instrukcja montazu
Montageanleitung
WVIHCTpyKLMA MO MOHTaxy
Instructions de montage
Asennus-ja kayttoohjeet
Instru¢des de montagem
Monteringsveiledning
Montazni navod
Istruzioni di montaggio

NO:2021.04

NXM

Instrucciones de montaje
LLloao MOHTyBaHHA
Montaj Talimatlari
Obnyieg Eykataotaong
Instructiuni de montare
Monteringsanvisning
Montage instructies
Monteringsvejledning
Istruzzjonijiet ta ' muntagg
Szerelési utasitas
Montazas instrukcijas
Montavimo instrukcijos

IEC/EN 60947-2




Caution: Installation by electricians only

Ettevaatust: paigaldus elektrikud ainult

BHMMaHMe: NHCTanvpaHe OT eNekTPOTEXHULMCaMO

Uwaga: Instalacja tylko przez wykwalifikowany personel
Vorsicht: Installation nur durch den Elektriker
MpeaynpeXxxaeHne: MOHTaX JO/IXKEH BbIMOIHATLCA TONBKO
KBaNMOULMPOBAHHBIM 3/1EKTPOTEXHNYECKM MEPCOHAIOM
ATTENTION : I'Installation par du personnel qualifié seulement
Varoitus: asennus sallittu vain séhkoalan ammattilaiselle
Atengao: instalagdo pelos eletricistas somente

Advarsel: monteres kun av elektrikere

Varovani: Montaz pouze osobou s elektrotech. kvalifikaci
Attenzione: installazione solo da parte di personale addestrato
PRECAUCION: instalacion por electricistas solo

YBara: MOHTaX e1eKTPUKM TiNbKK

Dikkat : Kurulum sadece elektrikciler tarafinca yapilmalidir.
Mpogoxn: eykatdaotaon va yivetal amd nAEKTPOAOYyouG HOVO
ATENTIONARE: instalarea de electricieni numai

Varning: Monteras av behorig elektriker

Let op: installatie door elektriciens alleen

Advarsel: monteres kun af elektrikere

Attenzjoni: installazzjoni mill-elettricisti biss

Figyelmeztetés: a telepités a villanyszerel6 csak

Piesardzigi: iekartas, elektrikiem, tikai

Ispéjimas: montavima privalo atlikti elektrikai




NXM

Moulded Case Circuit Breaker

Vormitud kohtuasi kaitseldliti
ABTOMaTUUEH MpeKbCBaY ST Kopryc
Wytacznik kompaktowy

kompakter Leistungsschalter
ABTOMaTMUECKWI BbIKKOUATENb B IMTOM KOpryce
Disjoncteur boitier moulé
Kompaktikatkaisija

Disjuntor moldado do caso

Effektbryter

Kompaktni jisti¢

Interruttori scatolati

Disyuntor en Caja Moldeada

®acoHHa BMNaaKy BUMMKaYa

Alcak Gerilim Devre Kesici

AVTOPATOL SIOKOTITEG LOXVOG KAELOTOU TUTIOU
Turnate Circuit Breaker Case
Effektbrytare

Gegoten behuizing vermogenschakelaar
Effektafbryder/Maksimalafbryder
Moulded Circuit Breaker kaz

Ontétt esetben megszakitd

Kompaktais slédzis

Pramoninis automatinis jungiklis




Type

e
screw

NXM-63 [€/S

M4x62

NXM-125F/H

M4x72

NXM-160

M4x45

E/S

S
NXM-250
FH

M4x45

M4x90

NXM-400
NXM-630

M5x75

NXM-800

M5x75

NXM-1000

M6x90

NXM-1250
NXM-1600

ddd 404400

M5x140




Product code

NXM-63

NXM-125
NXM-160
NXM-250

NXM-400
NXM-630
NXM-800
NXM-1000
NXM-1250
NXM-1600

w4
LA

Partial sectional view
at the wiring




GHNT NXM

(mm)

Size type

Product model

NXM-63E, S |NXM-63F, H
NXM-125E, S|NXM-125F, H

NXM-160| NXM-160
E. S F. H

NXM-250| NXM-250

E. S

F. H

86

88

102

55.5

56

275

30.5

23

29

17.5

23

8

10

Product

Dimension

Installatior
Dimension




Partial sectional view
at the wiring

(mm)

Product model

Size type NXM-400

NXM-630 NXM-800 NXM-1000 | NXM-1250 | NXM-1600

160 170 175
91 100 120
45 52 378
50 60 78

445 445 53
15 15 15
165 168
114 118

106

Product 43 42

Dimension 75 e

270 280

235 243

104 106

182 210

240 280
58 70

116 140

174 210




CHNT M

(Continuation sheet)

Product model

Size type NXM-400
NXM-630
A 44 58 70 70
Installation | Al 88 116 140 140
Dimension | B 194 200 243 314
od 7 7.2 7.2 6

NXM-800 | NXM-1000 | NXM-1250 | NXM-1600

NXM-63/NXM-125

mn @
Cross-sectional area
NXM-63: s(bxc)>16
NXM-125:5(bx0)250
ﬁf]:l
This side connect
with breaker

NXM-160

7/
< Cross-sectional area
55 \ LS s(bxd)=70

5 |

405




NXM-250

/)
Cruss smﬂond\ area
s(ox0)>120
<235 bs23s

NXM-400

191" 10 e

nnect

with breaker

ﬂ al® o3

30N'm

!%ﬁ

h D
Cross-sectional area
s(bxc)=240
- <305

NXM-630

[ X
Thw; 5bce mme(\ 105

M af® i3

30N-m




CHNT NXM

NXM-800

m? @

NXM-1000

This side connect

NXM-1250/NXM-1600

This side connect

oy

77

Pated Curent
MI0x45(1000, 1250) 1600A
MI0x55(1600) m

1250A/1000A




Interphase barrier shall be installed before operation

Enne kasutamist tuleb paigaldada faasidevaheline toke

WHTepdasHaTta nperpasa ce MOHTMpa npeaw pabota

Bariera miedzyfazowa powinna by¢ zainstalowana przed uruchomieniem
Die Zwischenphasenbarriere muss vor dem Betrieb installiert werden
MexdazHbin bapbep foMKeH BbiTb YCTAHOBAEH A0 OMnepaLmn

La barriére d'interphase doit étre installée avant I'opération

Vaiheiden vélinen este on asennettava ennen kayttoa

A barreira interfasica deve ser instalada antes da operagao
Grensesnittbarriere skal installeres for drift

Pred provozem musi byt nainstalovana mezifazova bariéra

La barriera interfase deve essere installata prima dell'operazione

La barrera de interfase se debe instalar antes de la operacion.

Mepea ekcnnyataLiero MOBMHEH BCTAHOBIHOBATUCA MixKdasHuii 6ap'ep
Operasyon oncesi fazlar arasi bariyer tesis edilecektir.

To ppdypa eviapeong paong eykabiotatal Tipv amo T Aettouvpyio
Bariera interfaza trebuie instalata inainte de operare
Gréanssnittsbarriar ska installeras fore drift

Tussenfasebarriere moet voor gebruik worden geinstalleerd
Interfasebarriere skal installeres inden drift

Il-barriera ghall-interfazi ghandha tkun installata gabel I-operazzjoni
A mikodés el6tt interfazisu akadalyt kell felszerelni

Pirms darbibas sak uzstadit starpfazu barjeru

Pries eksploatavima turi bati jrengtas tarpfazinis barjeras




Zhejiang Chint Electrics Co., Ltd.

Add: No.1, CHINT Road, CHINT Industrial Zone,North Baixiang,
Yueqing, Zhejiang 325603,PR.China

E-mail: global-sales@chint.com

Website: http://en.chint.com

V £
e £




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

